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Question: 1

Give the code fragment:

Which code fragment, when inserted at line nl, enables the code to print the sum of all the
elements in the runs list?

A. return list, Stream () .map (I -> i) sum () ;

B. return list, Stream ( ).mapToint (I ->i). sum () ;
C. return list, Stream () .mapToint(i -> i+ i) . sum();
D. return list, Stream () .map(1-> 1 +1) .sum{);

Answer: B

Question: 2

Given the code fragment:

if (avar++ < 100 {
System.out. println(avar + " Helloc Worldl™);
L oelze |
dyvstem.out. println{avar +

Hello Universel™);

¥

What is the result if the integer aVar is 9?

A. 10 Hello World!
B. Hello Universe!
C. Hello World!

D. Compilation fails.

Answer: A
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Question: 3

Give the code fragment:

What is the result?

A0:1:2:3:4:
B.O:0:0:0:0: pen
C. A compilation error occurs.
D. 0
E. O

:1: pen

: 0 : pen
Answer: E

Question: 4

Give the code fragment:

What is the result?

A. word: why what when

B. word: why word: why what word: why what when
C. Compilation fails.

D. word: why word: what word: when

Answer: A
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Question: 5

Given the code fragment:
. pubkidic atabis wold dispiavhetailsd) 4

Page 4

(38 cry [Duffaredhsader Br = new Dulferedieadserinew Flleleader ["salearsport,dat’ )l

5 String racordd

. wnile [(fressid s booreadhinedly = oaqull) 4
in., yeteEm. oL printlnlrecord) £

1 i B I

1E, oy, clogall:

13 af = mew BulferedReader (naw Flisleadsr (Maqnialrspabs.dat"}1y
1%, whila (drecard = br.readhins ()1} 1= pall} 4
15 Syetem.olt sprintlnipenssrdl

16, ¥

175 | catoh (I0Excaphian al ¢

1%, Syeten, arr . print (e, gattlassi))

195 1

A0 ¥

What is the result, if the filesalesreport. dat does not exist?

A. class Java.ia.lOException

B. Compilation fails at line 6 and 13.

C. class java.ia. flilenNOIfoundException
D. Compilation fails only at line 6.

E. Compilation fails only at line 13.

1

Answer: E

Question: 6

Given:

Pabh. pi = Patha.get (" Plda/MyPio. Jpad™h

Bystanm, cut.printinipl. getHamatount i1 #
oMo pE sastHamnslly
ek plocgetTileNama [ FF

fssume Ehak the pics -:Iirecl:urg.r does MNOT exist.

A. 2:MyPir..jpAg:MyPic. jpag

B. 2: pics:Mypic.jpcg

C. 1:Pics:/Pics/MyPic.jpeg

D. An exception is thrown at run time.

Answer: A

Question: 7
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Given the code fragment:

14, Jiinzort code hiddxe

Lo =it f-::r.tc.:\':.:.l-:hg' =omtaw RnrayLES T b

Fi

T fontCatalog add (P alg=rian®} 5

18- fontfatalagladd (" Cambriz™)y

L9 foptfatalog.add ("Lucida Brighz"t;

>IN catogory.proiMFirscCatecore™ . FontCaTalag);

Which two code fragments, when Inserted Independently at line 14, enable the code to compile?

A. Map<String,
B. Mae<String,
C. Map<String,
D. Map<String,
E. Map<String,
F. Map<String,

List<String>> category = new HashMap<>>() ;

List<String>> category = new HashMap<String, List<String>>() ;
List<String>> category = new HashMap<String, ArrayList<String>> () ;
List<String>> category = new HashMap<List> () ;

List<String>> category = new HashMap<String, List<>> () ;
List<String>> category = new HashMap<>() ;

Answer: B, F
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